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(V1 X S1+V3 X S4+V5 X S5) x 3600=(V2 X $3+V4 X $2) X 3600
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VO C1 C2 C3 C4 ¢ 0
(m/s) (kg/m%)
0.87 0.80 —0.50 0.10 —0.50 2.00 1.20
S1 S2 S3 S4 S5
(m?) (m?) (m?) (m?) (m?)
0.44 0.81 0.46 0.81 4.00
P1 P2 P3 P2 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.036789 | -0.02299 | 0.004599 | -0.02299 0 —0.00016
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(m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h)

i 1.2 0.7 0 0.0 0.0 0 0.0 00 0 1.2 03 0
wILER [ 1.0 0.5 2,347 20 0.2 4543 0.0 0.0 0 1.9 25 4,301
JEFEE 0.0 0.0 0 1.8 2.7 4,187 25 17 5,655 15 20 3312
JeAFER | 1.9 038 4211 25 38 5,738 31 83 6,927 0.9 05 1,962

E4: 1.9 32 6,122 28 80 8,855 32 18 9918 1.0 08 3,207
JdLEEA [ 1.9 1.8 4,363 31 85 7,102 1.6 03 3,509 1.1 03 2,490
El4-: 1.3 03 2,953 35 08 8,040 0.0 00 0 00 00 0
BR[| 12 1.7 2,794 0.0 0.0 0 0.9 0.2 2,044 12 0.2 2,726

HE 1.6 1.2 4,349 00 00 0 1.2 02 3,261 0.0 0.0 0
HEREE| 16 23 3,527 0.0 0.0 0 0.0 0.0 0 06 0.2 1,347
HREA 1.6 32 3,485 0.0 0.0 0 5.1 23 11,543 1.7 03 3816
HARAE | 16 27 3,651 00 00 0 5.4 47 12,167 45 13 10,100

R 1.3 20 4,042 00 00 0 71 43 22,292 54 128 | 16,758
HmEE | 18 12 4,061 0.0 0.0 0 0.0 00 0 6.4 23 14,389
G 21 0.2 4,713 0.0 0.0 0 0.0 0.0 0 0.0 0.0 0
mEEEE | 14 12 3,239 0.0 0.0 0 0.0 00 0 1.9 02 4,265
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